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当T的值为3.35246 ´ 10-6时，质点到达视界

此时 R 的值为：1000.

此时 Γ 的值为：0.891502

此时 ua 的值为：92.99792 ´ 108, 2.99792 ´ 108=

此时 vb 的值为：92.67266 ´ 108, 1.01755 ´ 108=

此时 gabu
avb 的值为：-7.30149 ´ 1016
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The information paradox of black holes may not exist
Gui-xiong Liang∗∗1

1(Cangwu Wangfu Education committee office, Wuzhou city, Guangxi autonomous region ,

District543004)

In this paper, through the numerical simulation of the process in which the particle falls into the Schwarzschild black hole

and the analysis of the causal relationship of the events on the event horizon of the Schwarzschild black hole, it is concluded that

"if the black hole itself will die due to evaporation, the event that the object falling into the black hole will pass through the event

horizon and fall into the black hole will not happen", Because the event that objects falling on the black hole pass through the

black hole divine world always occurs in the causal future of the event that the black hole dies due to evaporation Since the object

will not really fall into the black hole, the problem of "the information paradox of black holes" itself is no longer a problem.

Keywords: Black hole evaporation, The information paradox of black holes, Coordinate singularity,

Kruska coordinate system, event horizon,Causal line
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